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Formal Outline:  “The Fall of the House of Usher” Essay
I.  Introduction

A.  Set the Mood

1. Choose a reflective lead: Reflective lead on incest
2. Tie in subject: Likewise, in Edgar Allen Poe’s…

3. Setting Context: (Plot Summary) Roderick and his twin sister 
          

Madeline Usher realize that they face death because 

of their family’s incest.

4. Thesis Statement: Through interpretation of Edgar Allen Poe’s 


subconscious usage of Freudian, Archetypal, and 


Contextual symbols, it is clear that Roderick and 


Madeline Usher had an incestuous relationship.

II.  Body of supporting paragraphs

A.  Supports Structure of Thesis

1. Statement: Poe uses contextual symbols to represent Roderick 
 
         and Madeline’s incest.

2. Example: “I looked upon the scene… the hideous dropping off 
 
         of the veil” (1).

3. Explanation: The house represents incest in the Usher family. 

4. Example: “It was possible, I reflected… and vacant eye like  
    
         windows” (1).

5. Explanation: The tarn represents the death of the family.

B.  Supports Structure of Thesis

1. Statement: Contextual symbol represents the incestuous 
   
         
         condition of Ushers.

2. Example: “Minute fungi overspread… crumbling of the 
 
            
         individual stones” (2).

3. Explanation: Stones represent each family member.

C.  Supports Structure of Thesis

1. Statement: Contextual symbol represents incest in the Usher 
             
         family.

2. Explanation: “Perhaps the eye of… lost in the sullen waters of 
     
          the tarn” (2).

3. Explanation: The fissure represents incest within the Usher 
                 
             family.

4. Example: “A servant in waiting… the studio of his master” (2).

5. Explanation: The narrator is being reborn into the “womb” of the 
          Usher house.

D.  Supports Structure of Thesis
1. Statement: Archetypal symbol represents incest.

2. Example: “When a door… many passionate tears” (4).

3. Explanation: Roderick knows Madeline is dieing, and he is 
 
          especially sad because they are committing incest. 

E.  Supports Structure of Thesis

1. Statement: Archetypal symbol represents the incestuous nature of 
         the Ushers.

2. Example: But evil things… old time entombed” (6).

3. Explanation: Sickness (incest) has taken over the family.

4. Example: “And travelers now… laugh- but smile no more” (6).

5. Explanation: The whole family is committing incest, children are 
         produced through incest.

F.  Supports Structure of Thesis

1. Statement: Contextual symbol represents incest.

2. Example: “There was blood… the terrors he had anticipated” 
 
       (10).

3. Explanation: Roderick and Madeline die because of their incest.

4. Example: “Suddenly there shot… the fragments of the ‘House of 
        Usher’” (11).

5. Explanation: House has been struck by lightening, represents God’s anger with the family for committing incest.

III. Conclusion

A.  Close the Mood

1. Restate Thesis: Edgar Allen Poe unknowingly used Freudian, 


   Archetypal, and Contextual symbols to disclose 


   that Roderick and Madeline Usher had an 



  incestuous relationship.

2. Explanation reflecting on:   Poe’s use of incest as being 
 
 

   destructive to a family
3. Analogy: Compare incest to drinking and driving.

